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�#	P��	 ��	 ����	 ����	�������	��	����	���
�>	���	4������	 ���������	 5	 ���	 ������

��8���	 �������������	 5	 ���	 4�7����	 ���	 4������	 �������	 5	 �0�������	 ��	 ��8��	 ?��8���	 ��	

�������	 ���	 �������A#	 ��	 
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��	 �����	9�Q��	���	 ��	 ��	��8��	���	�������	���6��8	 ?�0���	��	���	��	��8��	��	����	 5	6�����A>	
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�������#	 �������	 ���	 4������	 ���
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�������	 ���	 ��	 ��8��	 �������>	 ��	 �0���	 ���	 �����:��	 �0��������	 ��	 4�����	 ���6�	
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�	 5	 �0�������	 ��	 ��8��	
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�����	��	��	���9���	�0��	��������8��	�������A#	
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11">	K//>	.11>	 !1>	%$/">	%K"$	��	$%% 	�4	����	�����������	?&�	9���	������	���	���8	�����=���	
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�����	��	��8��	���
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����	 9�����4���	 4�7�����	 ���	 ��4�������	 4�������	 ����	 ���	 ����	 �����8	 �������	

�������44���#	 ��	 �:�����	 �����	 ���	 4������	 ���
�	 �������������	 5	 �0�������	 ��	 ��8��	
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�����	��=��A	�����
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��	��������	����4���#	�������	���	��8���	���
�	����	��	����	��	����	�6������	��	��9��4��	��	

9��	��	5	4�����	���	�0��	�0������	��	��	����������>	��	7	��	�	��	4����	��	4����	������	������0��	
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. % .  ���
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	 ���	4������	���
�	��	��������8��	�����4�����	���	��	6������	���
���	<���	���4�����#	
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4������	 ���	 ����4���	6��4�������#	 ��	 �������	�0��6��	 χ 	 �����	��	 ���������	 ��	
����	 ��	 ��	

���������	����������	C	

[ ]φθθθθχ ������������������ ����� −= 	

�S	 �θ 	 ��	 �θ 	 ����	 ��������
�4���	 ���	 ��6���	 D�������8	 �������	 ��	 ��	 
����>	 ��	 φ 	 �0��6��	

�D�4����	������9	?��6��	�D�4����	�������	4����	��6��	�D�4����	��	
����A#	

��	 χ 	 ���	 ��9������	 ��	 �6��	 5	 /!T>	 ���	4������	 ����	 �����4�����	 ���	��	6������#	 �0��
������	

�������	 �������	 �	 ���
�	 �0���<��	 5	 ��	 �����#	 ��	 χ 	 ���	 ���������	 5	 /!T>	 �0��
������	
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�0��9��4�����	4�����	���6�	���
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�0�����6��44�	��4���	���	
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�A>	����	������	���	��O���������	��������#	

���8	 ���	 ���	 ���	 ��
���6��	C	 ���	 ��������8���	 ���9����4���	 �������>	 �0���	 5	 ����	 ���8	
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�	
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	 (�	�����������	���	����������	���	��������	���������	���	 ������	��������	��������	���	

���)������*��	��+����	���	�������	,	�-�����	���������	���	������	.	 ��	�����	��	������	��	��	

���/���	 ����������	!�	�//��0	 ��������	 ��������	���	 ������������*���	*��	 �������	 ��	������������	

����	�����	*��	��	���/���	������*��	.	

•	 ���	 ������	 ��������	 ���1���	 2���	 ��3�	 ��/������������0	 ���������	 ���	 ���/����	 ������	 ��	

�������*���	�4	 ��	 ��/��������	��	 ���/���	����	 ��������	 5�6	 �����	*��	 ���	 ���/����	 ������*���	

����������	���	��/���������	��	���/���	��/��������	,	5�56�	

•	���	��/���������	���	������	��������	����������	���	������������*���	����������	��3�	1����)���	.	

���	�7�����0	 ��	 ��/��������	���	 ���/����	1��������	������	���	 ���1��	 8≈	5�69	����	 ��	�������

��/�������0	 ����	 /��)��	 1���	 &:5	 ��	 �:5	 ��	 8*���*���	 5�5�90	 �1��	 ��	 ���	 ��	 ��/��������	

����������	1���	665	��0	������������*��	��	��	�������	1�����	

•	 ��	 ��/��������	 �-���	 ���/���	 ������	 ����	 1�����	 ��������������	.	 ���	 �7�����0	 ����	 ���	

;����	���������0	��	���1���	1������	���	����/��	��	�����	���	��������	
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������	�����	���	�����/������	������*���	�������	��7	���7	���������	(-��1������	 <(=!>��	���	

)����	���	�-�����������	���	�������	���������������	����������	,	&:5	��	@&6	��0	�����	*��	����	
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�0	 ����	 ����	 ���/��	 ���	 �������	 ��	 ���������	 ���������	 ����	 ��	 1���)��	 ��	 ��	 ��A���

��/�������	 8�����	 ����B	 µ�9�	 !�	 �����*�����0	  <(=!>��	 ��	 ����	 �������	 *�-��7	
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�	
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�������	 �	 ��������	 ��1�����	 ������������	 �����	 ���	 ��������	 �����	 ���	 ���7	 ��1��������	
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(-��1������	 <(=!>��	 ���������	 ����	 ��	������������	 ���	 ������7	 ���������	 ���1�����	 ��	

���0	���	��������	��	���	���������0	�����	*��	 ��	��������	�����	���	��//�������	������)�������	

 ����	���	�����7	 <(=!>��	�*�����	��	�����������0	���7	����	��������	.	&:5	��	��	@&6	���	
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�-���������	 *��	 ���	 ������)������	 �����������	 ��	 �������	 ����������	 8����	 /��	 ��	
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(�	 /�����	 �	 ��������	 ��	 �����������	 ���	 ��//�������	 �����������	 ��	 �A��3��	 ��������	 ��	

������������	 �������	 ��	 ������	 ��	 �-�������3���	 =�	 /���	 ��	 �-������	 1��������	 ��	 ��	

������������	8���	,	��	���������	��	����	��	������������90	���	������������	���������	��	����	���	

�����������	 �������������	 ,	 ��	*��	 ������	 /���	 ����	���������	 ��	 ���������	 �������	(�	 ������	

��������	 �� 0	���������	��	�	������)������	8���������0	��������	��	���/���9	���	�����	����	 ��	

/����	���1����	.	

[ ] ( )[ ]��	���

�

��	��	

�

�����	 ���������� λλλλλ βδγδβδ +−+−+= �7��7� 	

�4	 ��	�� 0	 �����λ 	��	 ��	��λ 	����0	��������1�����0	���	����������	����������	��	���0	���	��������	

��	���	���������0	 ,	 ��	 ��������	�-����	 λ �	 �� 	 ���	 ��	�����	�-���	��/����	���	
��

�� µµ
�� += 	

8 �µ 	��	 �µ 	�����	��������1�����	���	�������	���	������	;�������7	�������	��	��	1����9�	 ���

λδ 	��	

��	

λδ 	����	���	����������	����*���	�������	��	�����������0	��������1������		

(��	 ���7	 /�������	 �7����������	 �������������	 ,	 ���	 ������	 �-�����������	 ��������	 ���	 ��	

���)��	 ���1�����	 ��	 �-�������3��	 ������	 8��������	 K	 ���������9	 ��	 ��	 ��	 �����	 ������	

������������	���	������������	����������	��	���������	���	������	���	��//������	
����/���0	���	

������	��	 ������	 ���	��//����	1���	 �-�1���	���	 ���	���������	 ��	 ���	 ��������	 ��	�-���	����	���	

������	.	 ���	 ���//�������	 γ 	 ��	 β 0	 ��/�������	 ,	 �0	 ����������	 ��	 �������	 ��	 ������	 ��	

������3��	8��������0	�BB:9�	(�	���//������	 β 	1���	5�B0	1�����	������	��	�0	���	���	���������	

��//�����	 ��	 /�L��	*��������������	 ��	 ������0	 ����	 ���	 ��������	 ����	����0	 ����	 ���	 ��//�����	

����	��	������	�1���	8Θ	≈	5M90	����	�������	�-����	��	������������	��	��	����3��	���������0	��	

*��	�����/��	*��	��	*��	���	�����	���	��//�����	��	������1�	��	/���	����	���	���������	�������	(�	

���//������	 γ 	���	����	�-������	����	/��)��	*��	���	��������	����	�����	�	������	��	�����������0	

γ 	�	���	�������	����	��//������	���������	!�	���������	,	����	������	��	���//������	�-������N�	

α 0	��	�)�����	γ 	O	5��&6@	K	5��5��	α	K	5�55@5	αP�	

	

 ���	��	���3��	�-��������	�����0	��	������	/����	8�����	���	�	������)������9	��	������	����	

����	 *��	 ��	 �-���������	 ����*��	 �������	 ��	 ��	 ��	 ���������	 �-�)���1�����	 8��7����	 ��	

����������	��	1����9�	(-��1������	 <(=!>��	���������	���	������	��������	�������	�5	���3���	

��	������	��������	������*���	��/����	���	���	���	�����������	8σ	O	5��:6	��	 �� 	O	5�56	,	5��6	

µ�	���	���	��	5�5�	µ�	���/	5���	µ�9	��	��	������	��	��/�������	�	����	,	���:	Q	5�5���	��������	

����������	 ,	 ���	 ��A����	 ���	 �������	 ��	 ��/�������	 ���������	 ����	�������� ��� �	
	 8�55�9		

����	 ���	 ��������	 ��	 �A��	 D	��)���F����������	E	 8�	 ≈	 ���50	 ���	 �-�)��������9	 ��	 ��	 �A��	



��������	
�	�	
������������	���	��������	���������	���	������	��������	

	 ��@	

D	)�������)������	E	 8�	 ≈	 ��650	 �)��������	 �1������������	 ����������9�	 (-��1������	

 <(=!>��	 ��������	 ,	 ��������0	 ����	 ������	 ��	 ���	 �5	 ���3���0	 �-���������	 ����*��	 *��	

������	��	���������	�-�����	ε	�����	���	�����������	 ���

��� λ 	��	���	�������	
���

��� λ 0	�������	����	

���	�	����������	��	1����	8��������	���	�9	��	���	�	���������	�-����	8��������	���	λ9	��	��	/�L��	

���1����	.	 ( )��
= =

−=
�

�

�
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�

λ
λλε
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�

���

�

���

� ����
�

�	 ��	 /����0	 ���	 ��������	 ��	 �-��1������	 ����	 ��	

���3��	 ��	 ����������	 8�����������	 ���	 ���	 ���//������	 �-������N�9	*��	 �)�����	 ,	 �-�����	 ε	 ��	

����	/��)��	��	�-���������	����*��	*��	���	���	���������	

 $ $ !��
"	

	 �������������	 ,	 �-����������	 <(=!>��0	 ��	 ������3���	?<=
�	 ��	������	*��	 ���	

����������	�������	��	����	���	�����	���������0	�-�4	���	�������	����	�������	���	����������	

���	 ��������	 ��3�	 ��//������	 ��	 �����	 �7�����	 ������������	 �1��	  <(=!>���	 ��������	 ���	

)����	���	�-�����������	��	�����	�������	����������.	�&&0	&��	��	���B	��	8������������	
0	�BB:�

�9�	(�	����	������	��//������	�����	��	�-�//�������	��	������	��	��	���/���0	���7	�A����3���	����	

/�����	.	 �-���	 ����0	 ��	 ������	 ����������*��	 8���������	 ��	 ��������9	 ���	 �������	 2���	

��������)��	,	���B	��0	��0	�-�����	����0	��	�������	*�-��	�7����	���	��������	��������	�����	���	

��/���������	��	���	����	���	�����	�����7	�&&0	&��	��	���B	��	8������������	
0	�BB:�)9�	�����0	

��	��/��������	�������	,	���B	��	����������	�����������	,	�����	��	���/���	,	�����	��������	

�-����	 ��	 ���	 ��/���������	 ��	 ���/���	 ��7	 ���7	 ������	 ���������	 �-����	 ���1���	 ��	 2���	

���������	�����	��������	����	2���	�������	���	���	�����	�*�������	���1�����	8��/��������	���	

���������	8R9	����	��	�����	��	��������9	.	

���B���B

�������������� ρρ = 	

�

���B

&�� �������

�������

ρ
ρ = 	

�

���B

�&& �������

�������

ρ
ρ = 	

�4	 λρ������� 	��	
λρ������� 	����	��������1�����	���	��/���������	�������	��	��	���/���	,	��	��������	

�-����	 λ �	 (�	 ������	 ,	 ���B	 ��	 ���	 �����	 ��������	 ����	 ��������	 ��	 ���)�3��	 ����	 ���	 ��	

���/����	 
�	 �����	 ����	 ,	 ��	 �����	 ��	 �-��1������	 ���7	 ��/���������	 �7������)���	 ����	

������������	���	��������	.	���	�������	?<=
�	,	�&&	��	&��	���	



��������	
�	�	
������������	���	��������	���������	���	������	��������	

	 ��B	

(-�����	 ���1����	 ��������	 ,	 ����������	 ��	���3��	 ��	 ��	�������	��	���3���	 �-��������	*��	

����������	,	�-�)���1������	 ���	��	/����0	��	������*��	���	D	 ���	>�������	E	���	�����A���	�	

�-����	�-��	���3��	�-��������	D	�����������	E	8�����	�����
�� ���!0	�B@�90	�-���������	����*��	

���	 ��1�����	 ��������������	 ����	 ������	 ���	 ���7	 �����7�	 !������	 ���	 D	����	 ��������	E	

λρ ���" 	 ����	 ���������	����	 ���	���7	 ���������	�-����	.	
λλλλ τϖρ ����" = 	 �4	 λ 	O	�&&	��	&��	

��0	 λϖ 	���	�-��)���	��	��//�����	������	��	���3��	�-��������	D	�����������	E0	 λτ 	�-���������	

����*��	��	 λ� 	��	1�����	��	��	/�������	��	�����	��	���3��	�-��������	D	�����������	E	����	��	

���������	 �-�)���1�����	 ?<=
��	 (�	 1�����	 ��	 �������	
�&&

&��

���"

���"
#

ρ
ρ

= 	 ������	 ��	 ��	 1����)�����	

���������	���	D	����	��������	E	��	������	����	��	�������	 ���	����������	�)���1���	����	 �-���	

���	�����	����������	���1�����	8#���������	
0	�5569.		

	 •	#	S	5�:�	�	�	O	�	.	#�������	 8���	 ����������	 ���	���3���	D	)������	)������	E	��	

	 D	��)��F����������	E0	*��	����	�����������	��	 /�������	��	 ��	��������	���������*��	��	

	 ��7��	�)���1�9	

	 •	#	T	5�B�5�5�8Θ��659	�	�	O	5	.	=���	8 �����3���	�������*���9	

	 •	#	≤	 5�B�5�5�8Θ��659	�	 5	S	 �	S	 �	.	?�7��	 8?������	 ���	 ���7	 ��������	 �A���0	 ��	

	 �������	���	D	����	��������	E	���	�����	�������	����	����������	 ��	�������	��	�������0	

	 �-���	,	����	��	�������	��	�-���������	����*��	�-��	���	���7	���3���	��	��	�-���������	

	 ����*��	������	,	665	��9	

	

�	���	 ��	 /�������	�-��������	���	�������*����	(��	������)������	��	 ������	���	���3���	D	����	E0	

D	)������	 )������	E	 ��	 D	��)��F����������	E	 ����	 ��������	 ���	 ���	 ���)�������	 ��	 ���������	

����	������������	8#���������	
0	�5569�	���������0	���	���3���	�������������	,	�	O	�	���	��	

�����	����	�����������0	�����	*��	�-���	��	���������	����	��	���3��	D	����	E	8�	O	59�	<�	����	

����	����	*��	��	�����3���	�	����������	*��������	,	��	/�������	������1�	��	�����	�����	=���	

��	 �����*��0	 �	 ���	 ��������	 ��//�����	 ��	 5	 ��	 �	 81���	 /�����	 &9	 ��	 ����	 *����/���	 ��	 �������	

����F��������	 ����	 ���	;���	���������*��	������0	 ��	 ���	 ���/���)��	�-��������	 ���	��A�����	

����������	��	���������	��	�����3���	�	81���	/�����	�9�	

	

=���	��	�����	��	�-��1������0	���	�������	,	�&&	��	&��	��	����	,	���1���	��1������0	����	�����	

/������	,	�-����	��	8��	���9	���3��8�9	�-��������	���������8�9	�����	*��	��	�-�1��������	/�������	

��	 (��	 ���7	 ����������	 ����*���	 ����������	 ����	 ,	 ���1���	 ����1���	 ���������������	 %�	

���//������	 �-������N�	 ���	 �������	 �������	 �1��	 ���	 ����������	 ����*���0	 ��	 *��	 ������	 ��	



��������	
�	�	
������������	���	��������	���������	���	������	��������	

	 ��5	

����������	�-���������	����*��	,	665	���	(�	��������	��	�-��1������	���	����	��	���3��	8��	��	

�������	 ��	 ���3���9	 ���������	 ���	 ��	 �������	 ���	 D	����	 ��������	E	 �����	 *��	 �-���������	

����*��	,	665	��	�)�����	��	/��	�-��1�������	 ���	�)�����	���	����������	����*���	,	�-������	

���������	�-����0	��	���//������	�-������N�	���	���������	������1��	

	



��������	
�	�	
������������	���	��������	���������	���	������	��������	

	 ���	

'$ �����������	���	��������	�
������	

'$#$ 
�����������	

	 =-���3�	���	�����������	��	��	�������	����������0	��	���	�����	*��	��	�����������	�����	

���	��������	�������	 <(=!>��	��	?<=
�	1�	2���	����	��	�����	)����	��	/�������	��	��	;���	

���������*��	 ��	 ��	 �A��	 ��	 ����������	 �)���1����	 <�	 �-������	 ,	 ���	 )����	 �����������	 ��	

�)���1���	 ��	 ������	 ��������	���������	 ��	 ;����	 ���)���	.	 ���	 ��/���������	 ��	 ���/���	 ����	

�����	����	/��)���	��	�����	�//������	���	�-�����������	���	���������	8R9�	��	���	����������0	��	

����3��	��������0	,	���	����������	������	��	/��7	��	)�������0	�)���1���	���������	��	�������	

/��2��	8�*����������	��	)�������9�		

(�	/�����	�	��������	��	��A����	��������	����	�55�	��	��	/�������	�-��������	���	�������*���	

�����	 ?<=
��	 �����	 ����*��	 ����	 ��	 �������	 ����������0	 �����	 /�������	 ���	 *��������	

������*��	,	 ��	 /�������	��	������	���������	!�	�//��0	 ���	��������	���	�������*���	����	��	 �A��	

D	��)��F����������	E	 ��	 D	)�������)������	E	 ��	 ����	 ��������	 ��+������������	 ��	 �������	

�����������	 (��	 �������	 ����������	 ��	 ���	 ���7	 ���3���	 ������������	 ���	 /��)��	 ������	 ��	

�-���������	����*��0	�������	����	���	���������	�-����	/��)���	8���	������������	�-���������	

����*��	 ����������	 ��������������	 ����	 ���������	 ,	 665	 ��9�	 ����	 �����/��	 *��	 �������	 �4	

?<=
�	����*��	���	/�������	�-��������	���	�������*���	������	��	�	8��������	������	��	�����	

���	��	/�����	�90	���	����������	����*���	 <(=!>��	��	?<=
�	����	�����������	�������)���	

����*��	��	����	���	�������	����������	*��	����		��+������������	�)���1����	

(-����������	?<=
�	��	/���������	���	���������	��	���/����	��3�	��/������������	�����	���	

�������	 ��	 ���	 ;����	 ����������	 (�	 �����	 ���������	 ���	 ��	 /�����	 �	 ����*��	 ��	 ��������	

�-��������	��	�A��	D	����	E	��	1��������	���	�������	��	���������	���	;����	������������*����	

 ��	 ������0	 ���	 �������	 ����������	 ����	 ���������	 ��+������������	 ���	 ���	 /��2��	 ����������	 ��	

)�������	����	���������	���	���	�������	��������	��	��������������	
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������������	���	��������	���������	���	������	��������	

	 ���	

	

.�����	 +	9	?�A����	 ��������	 ��	 ��	 /�������	 �-��������	 ���	 �������*���	?<=
��
����	 ����	

�-�����	 �55��	(��	;����	 )�������	 �������������	 ,	 ���	 ����	 ����	 ������	 ����	*��	 �-��1������	

?<=
�	������	2���	�//�������	

'$ $ �����������	���:���	

	 (��	 /������	 6��	 ��	 6�)	 ����������	 ��	 �����������	 ���	 ����������	 ����*���	 ,	 665	 ��	

������	���	��1�������	 <(=!>��	��	?<=
��	
���	���	��7���	�������������	,	���	��G��������	

�����	���	���7	��������	8�������	����	��	�����	��	1��	��	 <(=!>��9	��	��������	���	������7	

���	 ���	 ���7	 ��1�������	 ����	 �����������0	 ��	 *��	 �*��1���	 ,	 ��1����	 ��@655	 ������	 ��	

�����������	���������	���	�������	
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	 �&�	

+$ (���<��	���	��8�������	������� 	��	!��
"	

	 =���	 �����	 �������	 ����	 �)�����	 ��	 ���/������	 ���	 �����������	 �-��1������	 ���	 ���7	

�����������0	���������3������	�����	��	 <(=!>���	(��	���)�3���	����������	����	����A���	��0	

��	�����)��0	���	��������	���	���������	

+$#$ 
�8������	������� 	

+$#$#$ (������	������>���	

	 (��	���)�3���	 ����	,	 ��	������������	�2��	��	 �-����������	����	���������	����	�����	

��������	 =���	 �-����������	 �������	  <(=!>��0	 ��	 ���������	 ���������	 �� 	 �������	 ���	 ���	

��������	 �	 ���	 ���������	 ����	 �-�����7�������	 ��������	 ��	 ��	 ��//�����	 ��������	

�

�
��

µ
δϖ
�

985 Θ= 	 81���	 �������	���	��	��������	 
9	*��	 ���	)���	�������	 ����	*��	 ��	 �������	
�µ

δ
	

�����	�����	��1���	�-�����0	�-���	,	����	����	��	/��)���	����������	����*���	��	���	1�����	���	����	

����������	�����	�A����3��	���	����������	����	��	��/���	����	���������	�������	��	���)�	�4	

���	 ����������	 ����*���	 ����	 �����*������	 �-�4	 ���	 �������������	 ����������	 ��	 ������	

��������	  ���	 ������	 ��	 ���������	 ����	 �����/���	 ��������	 �-����������0	 ���	 ������������	

���������	�	���	��1��������	!���	���	)����	���	��	/���	*��0	����	��	���3��0	��	�����	;�������	

�������	 �θ 	��	���	���������	����*��	δ 	������0	��	*�������	 ���µ 	��	������	*��	��	�-�����	��	

��//�����	Θ	��	*�-����	���	�����7����	���	��	���A�V��	��	�����	�	��	Θ	8�	���//�������9�	�����	

�����	 ���	 ��������	 ����	 �	 ����������	 ����*���	 85�5�0	 5�6	 ��	 �	 ��7	 �	 ���������	 �-����9�	

�����������	 *��	 ��	 ������	 ���	 /�������	 ��	 ������	 �����	 ��	 �-���������	 ����*��	 8����V�	 *��	

������������	����	��	��//�����	��������90	���	�	���//�������	����	,	����	����	�����7����	���	��	

���A�V��	��	�����	�	��	���������	����*���	<�	�)�����	�����0	����	��	���3��	�-��������0	��	

�����	 �θ 	��	���	��������	�-����0	��	+��	��	��	���//�������	����	���������	��	*�������	 ���µ 	

��	/�������	��	��	���������	��	1����	��	��	�-���������	����*���	

(���	��	�-��1������	���	�������0	��	������3��	*��	�-���������	����*��	��7�����	���	�����	,	�	

,	 @&6	 ��	 ���	 ���	 ������7	 �7����	 ��	���������	 �-��������	 ����;	 ����������	 ����	 ���	1������	

�����������	 ,	 �	 8��	*��	 ���	 �Z	,	 �-������	 ������	 ��	 ������	 ��������	 ��	 /�������	��	 �-���������	

����*��0	1���	/�����	��9�	#�����	*��	�����������	��	�-�//��	��������0	�-���������	����*��	,	&:5	

��	 ����	 ���������	 ��������	 ��	 1�����	 �	 ��	 *��	 �����*��	 ���	 ��3�	 ���1����	 ����������	 ��	
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	 �&�	

������	 ����	 ��	 �����	 ��0	 ���	 ��	 �����0	 ���	 ��������	 �����A��*���	 �������	 ��	 ������	 ��	

�-�����������	 ���	 ��	 /�����	 6��0	 ���	 ����������	 ����*���	  <(=!>��	 ���	 ����	 ���1���	

�������������	,	��	���//������	�-������N�	����	,	��1����	��@�	8�������	��	��A��	�����	5��6	

µ�9	��	��	���3��	��	��A��	�����	5���	µ�	��	��	���//������	�-������N�	����	,	��5&	��1�����	

��	�-���������	����*��	���	�������	,	�	,	@&6	��0	�����	��	������	��	�-���������	����*��	,	665	��	

���	���B	����	���	����	�������	����������	��	��6�	����	���	��������	��	���	�����	�����	���	���7	

�������	����	)���	������	*��	������������	���	��	/�����	6���	<�	�)���1�	��������������	��	������	

,	 ���B	 ���	 ���	 ����������	 ����*���	 ���	 ����	 ���1���	 �������������	 �������	 ��7	 ��������	 ��	

���//������	�-������N�	��@��	

	

<����	��	����������	��	�-���������	����*��0	��	�����	�����	������/	�-���	�����	������������	���	

������7	���������	��������	 ���	����������	�-�)���1�����	�7��2����	 ���	 ���	������	;�������7	

��	1����	���1��0	 ���	�����������0	���������	,	 �-����	�-��	����	��	�����/���	�������/0	��	���������	

����	 ���������	 ��	 *�������	 ���µ 0	 ����	 ��3�	 �����������	 (�	 ������������	 ����	 ����	 ��	 ��	

���������	����	��	������	����������	�-�)���1������	

	

 ���	�1����	���	��//������	���)�3���	��	�������	������������	���	����	��������	��	����������0	���	

������7	 ����������*���	 ����	 �1�����	 ��	 /�L��	 �7����	 ��	 ����������	 ����	 /����	 ��	 (%
0	

�����	 ����	 ���	 /���	 ����	 �-����������	 ���������	 ���	 �������	 (��	 �������	 ����	 ��������	 ����	

�����	 ������	 ��	 ���0	 �-���	 ,	 ����	 �1��	 ��	 /���	 ���	 ��/����������	 8��	 ��������	 �����	 ������7	

����������*��	 ��	 ��	 ���/���	 �������	 ����	 ��������9�	(��	 �������	 ����	 /����	 ��	����������	

���������	 ��	 ��������	 ����	 �-���������	 ����*��	 ��7�����	 ���	 ���	 ,	 @&6	 ���	 �/��	 ��	 �����	

������	 ��	 �-��������	 ��	 ��7��	 �)���1�0	 ���	 �������	 ����	 ��������	 ����	 ���7	 1������	 ��	

�-���������	����*��	�����������	�������������	��7	��1���7	5	��	�	X��	(�	�������	���	(%
	

��������	 �-����������	 ���	 ����	 �����*��	 ��	 ���)������	 ��������������	 ����	 ����	 ������	 ��	

�-�//�������	���	)����	��	 ��	������������	������*���	(�	/�����	��	��������	���	�����������	

�����	 ���	����������	����*���	,	@&6	��	������	���	���7	 ��1�������	 <(=!>���	!�	�)������0	

�-��������	���������	����*��	8�)�����	�1��	��	������������	���������9	���	�������	,	�0	��	*��	

�-���	 ����	 ��	 ���	 ����	 ���	 ���1���7	 ���������	 8��	 ��������9�	  ���	 ���	 ����������	 ����*���	

�����	���1���0	���	��//�������	�����������	�7������	8��	*��	�����*��	*��	��	���3��	�-��������	

�	��	�������	�����	���	���7	��1�������90	����1��	��	�-����������	�-���	����������	����	�������	

���	����������	����������	���������	
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	 �&�	

	

.�����	#'	9	�����������	���	����������	����*���	 <(=!>��	,	@&6	��	���1�����	��	�-������	

����������	 8�7�	 ���	 �)�������9	 ��	 ��	 ��	 ���1����	 ��1������	 8�7�	 ���	 ���������9	 ����	 ��	

�������	 �-��������	 �)���1�	 ���������	 ��	 ��	 /��2�	 ���;�������	 ��	 �B	 ������)��	 �55��	

(-�������	 ��	 ��������	 ����������	 ��	 �������	 ��	 ������	 8 ��	 �-�������	 ���������9�	 (�	 ������	

����������	)���	����	����������	��	�
3��
	)�����������	

	

��	 �����	 ���	 ����������	 ���������	 ��	 ��	 ��)��	 ��	 ��������0	 ����*�-��	 ������	 ��������	 �����	

���������0	 ��	�-��������	��	 ���������	����������	�	������	��	����������0	��	�-���	����	 ��	����	

(�	1�����	�)�����	��	��	���������	���������	 �� 	���	��/����	���	 �� $%�� += 	�4	%	��	$	

����	���	�����3����	��	���X��	��/����	����	��	����	*������*��	8����	 <(=!>��0	�-���	��	����	

��������	 ��	1����9�	 (�	 �������������	 ��	 �����	 ��	 ��	 ���������	 ���������	 ���	 )����	 ���	 ���	

����3���	��������*���	81���	��������	
0	�������	���9	��	����	2���	��������0	���������	����	���	

����������	����������	���	���1����	 ���	�1����	���	�1�������	���)�3���	��	�����0	��	��	�����	

����	��	����	��	��//�����0	�4	���	�����3����	��	���X��	����	�����	%&	��	$&		��	�4	��	�������	���	

������*������	���	��	��//�����	���������	��	�-���	���	��	���	,	�����	��	)����	���	�������	��	
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	 �&�	

���	��//������	���������	����0	��	�	��	�������	%&	TT	$&	���/	��3�	��	;����	��	������������	�4	

���	 ���7	 �����3����	 ����	 �������	 (�	 �����3���	 %&	 ����	 ����	 2���	 ���������	 �����	

������������/	 ��	 ������	 ��������	 ��	 ���������	 ��	 ���������	 ���������	 ���C	 ��	 ���	 ��/���	 ���	

9����89����8[ γγ $%% −−= 	 �4	 γ	 ���	 �-�����	 �����	 ��	 ����	 ��������	 ��	 1����	 ��	 ��	 ����	 ��	

��//������	(��	�����������	8���/���	��	�������3��9	����	���������	�7�������	��	%&�	

+$#$ $ (������	��<��>���	

	 =���	 �����	 �������	 ����	 ���������	 ���	 ���)�3���	 ��	 �����1�������	 ��	 �-��1������	

 <(=!>��	����	,	���	�������	��A��*���0	�����	��	*������	��	��	������������	��	���	��	��	/���	

�-��������	���	�������	����������	����	����������	���	����������	���	���������		

!�	����	��	 ��	 ����������	 ������*��	��	 �-���������	����*��0	���	 ����������	��A��*��	��	 ������	

��������	�7����0	 ���������	���	 ��	 /�����	���	<�	�)���1�	����������	*�-,	������	�-���	���������	

����*��	 �������	 �-��1����	 �	 8,	 &:5	 ��90	 ��	 ������	 ��������	 �-��������	*��������	 �����	!�	

�//��0	 �1��	 ���	 �����	 ���������	 ����*��0	 ��	 ������)�����	 ���	 �������	 ���	 ����	 ���/�����	 ��	

������	�1����	��	����	��	�-�������3��	�-�//�����	�1��	���������	��//������	8��	������	��������	

���1�����	��	/���	���	��	����	��	����	/��)��9	�����	*��	���	������������	���������	���3����	���		

��	 �������������	 (-�����������	 ���	 ����������	 ����������	 ���	 ����	 ��	 ��������	 ����	

�-�)���1�����	��	��3�	/�����	�������	�-���������	���������0	��	������	����������	����*���	����	

�����	��	�����	����������	�-���	����	���	��	�����	��+����	(-�)���1�����	��	��	/�����	��	������	

�����	��	��������	*��	��	������������	8���������	����	��	�������	����������9	��	������	��������	

�1��	��	���A�V��	��	�����	�	��	���������	����*��	�-���	���	��������	
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.�����	 #+	9	 ����������	 ��	 ������	 ��������	 8%&0	 1���	 �������	 ����������9	 ��	 /�������	 ��	

�-���������	����*��	,	&:5	���	<�	������3��	�	���3���	�-��������	8��A��	�����7	����	,	5�5:0	

5��5	��	5���	µ�	��	����	��	)��90	��	���	����0	���	���������	����*��	�����������	�����	��	���	

���������	�-�)���1�����	/�7�	8 �θ 	O	�6�5M0	 �θ 	O	�&��M	��	φ 	O	&5M9�	

	

%�	 �����	 �������	 ����	 �-����������	 <(=!>��	 ���	 ��	 �������	 ��	 )���	 ��	���3��	 �-��������	

����	 ���	 ������������	��	 ������	����	��	�������	)���������	(�	������������	���	 �������	�����)��	

��7	 �������	 ����������	����	 ���	�������	 ����������	 ������*���	����������	 ���������	 /��������	

����	�-����	����	���	�)���1�	���������	���	������	�4	���	����	����������	�-�1�����	�-������	��	

��/�������	���	����	��������	������*���	.	����0	���6	��	���:	8�����������	
0	�5569�	!�	/���0	���	

1������	 ���	 �������	 ��	 ��/�������	��������	*�-��	 �-����	 ������������	 ��	 ����������	 /��������	

�A��������	=�	 ����	����	��	����	���	�)���1��	���������	���	 ������	�4	���	����������	����	����	

�����	 ���	 ������*���	 ��	 ����������	 ��3�	 ���	 81���	 /�����	 �9�	  ��	 �����*����0	 ����	 ��	 ��	

������������	���	(%
0	���	�����	��	��������������	���*�����	8�-����,�����	����������	��	��	

�����)�����	1��	,	1��	��	��	������������9	�	����	���	��������	<�	�-�������	*��	���	��������������	
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	 �&&	

�����������	����	��	��A��	�//����/	1����	�����	5�5:6	��	5���6	µ��	��	���	�������	����������	,	

&:5	��	@&6	��	����������	��	�����������	��	��A��	�//����/0	��	�-���	���	��	���	��	�-������	��	

��/�������	 ��*���	 �-����������	 �-���	 ���	 �����)���	 %��	 1�����	 ��A����	 8�����	 ������	 ���	

�������	���/����	��	������	��	��������	��	)�Z���9	�����	,	�'	O	���:	Q	5�5��	�	����	���	��������	

��	 ����7	 �	 ��	 ������	 ���	 ��	 �������������	 ��	 �-���������	 ����*��	 ����*��	 �-������	 ���	

����������	���	��//�����	��	�'	�����	��	������	�-�����	���1�����	=���	��	�������	�����0	��	

������	���	������7	���������	,	&:5	��	@&6	��	����	���	������)�����	��	������	8 �� 	O	5��	µ�	��	σ	

O	5��:690	���	���������	����*��	��	5��	,	@&6	��	��	@	�������	��	��/�������	��//������0	��������	

��	�	�������	�������	8����0	���50	��65	��	��669	��	�	�������	�����������	8�5�55��	��	�5�5��9�	 ���	
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